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Find AB if it is defined
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The row column rule for computing AB

Let A aj be mxn and B big be n xp

If C AB then Cig where
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ainbnj.PEWrite B 5 Bp where

5 Then C AB AB Atp

Thus Cij is the
ith entry of Ab By the



row vector rule for computing Ax ̅ we get
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Thus Let T IR IRM and S IRP IR be linear

transformations with matrices A and B respectively

So A is mxn and B is nxp Then



To S IRP IRM is a linear transformation

whose matrix is
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The matrix of R is an m xp matrix and

can be written as R et Rep Now
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according to the definition of matrixmultiplication



In terms of matrices alone this thm says
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Likewise the first row is

2 3 4

In fact if R s
then
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1 3 4 4 21 12 6 3 8
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